

SHOW WORK. WRITE DNE FOR "DOES NOT EXIST".

For problems 1-4 let

$$f(x) = \begin{cases} 2x+5, & x \neq 0 \\ 10, & x = 0 \end{cases} \quad g(x) = \begin{cases} x^2-1, & x \neq 2 \\ 4, & x = 2 \end{cases}$$

1. The function f is continuous at $x = 0$ TRUE () FALSE () 3
2. In order for the function g to be continuous, A must be 3.
3. $\lim_{x \rightarrow 2} f(x) = \underline{9}$.
4. $\lim_{x \rightarrow 1} f(x)g(x) = \underline{0}$.

5. In the proof of $\lim_{x \rightarrow 2} (3x-1) = 5$, if $\epsilon > 0$ is given, find a δ which satisfies the limit definition. SHOW WORK!

$$|3x-1-5| < \epsilon$$

$$|3x-6| < \epsilon$$

$$|x-2| < \epsilon/3 \quad \delta = \epsilon/3$$

FIND THE INDICATED LIMITS, IF THEY EXIST.

$$6. \lim_{x \rightarrow 3} \frac{x^2 + 2x + 1}{x^2 - 1} = \frac{3^2 + 2 \cdot 3 + 1}{3^2 - 1} = \frac{9 + 6 + 1}{8} = \frac{16}{8} = 2$$

$$7. \lim_{x \rightarrow 3} \frac{x^2 - 9}{x - 3} = \lim_{x \rightarrow 3} \frac{(x-3)(x+3)}{x-3} = \lim_{x \rightarrow 3} (x+3) = 6$$

$$8. \lim_{x \rightarrow 0} \frac{121}{x^2} = \lim_{x \rightarrow 0} \frac{1}{x^2} = \infty$$

9. Find the derivative of the function $g(x) = \sqrt{x^2 - 2}$ using the definition of the derivative.

$$\frac{\sqrt{(x+h)^2 - 2} - \sqrt{x^2 - 2}}{h} = \frac{(x+h)^2 - 2 - x^2 + 2}{h \sqrt{(x+h)^2 - 2} + \sqrt{x^2 - 2}}$$

$$= \frac{x^2 + 2xh + h^2 - x^2}{h \sqrt{x^2 + 2xh + h^2} + \sqrt{x^2 - 2}} = \frac{2x + h}{\sqrt{(x+h)^2 - 2} + \sqrt{x^2 - 2}}$$

$$g'(x) = \lim_{h \rightarrow 0} \frac{2x + h}{\sqrt{(x+h)^2 - 2} + \sqrt{x^2 - 2}} = \frac{2x}{2\sqrt{x^2 - 2}} = \frac{x}{\sqrt{x^2 - 2}}$$

10. Given that the derivative of $f(x) = \sqrt{x}$, $x > 0$ is

$$f'(x) = \frac{1}{2\sqrt{x}}, \quad x > 0; \text{ what is the derivative of } g(x) = \sqrt{x}(x^2 + 1)?$$

$$\begin{aligned} g'(x) &= \sqrt{x}(2x) + \frac{1}{2\sqrt{x}}(x^2 + 1) = \frac{5x^2 + 1}{2\sqrt{x}} \\ &= 2x^{3/2} + \frac{1}{2}x^{3/2} + \frac{1}{2}x^{-1/2} \\ &= \frac{5}{2}x^{3/2} + \frac{1}{2\sqrt{x}} \end{aligned}$$

Differentiate the following functions.

11. $f(x) = x^3 + x^2 + 1 + \frac{2}{x} + \frac{3}{x^2}$ $2x^{-1} + 3x^{-2}$

$$\begin{aligned} f'(x) &= 3x^2 + 2x - 2x^{-2} - 6x^{-3} \\ &= 3x^2 + 2x - \frac{2}{x^2} - \frac{6}{x^3} \end{aligned}$$

12. $h(x) = \frac{x^4 - x^3}{x^2 - 1}$

$$\begin{aligned} h'(x) &= \frac{(x^2)(4x^3 - 3x^2) - (x^4 - x^3)(3x^2)}{(x^2 - 1)^2} \\ &= \frac{4x^6 - 3x^5 - 4x^6 + 3x^5 - 3x^6 + 3x^5}{(x^2 - 1)^2} = \frac{-3x^6 + 4x^5 + 3x^5}{(x^2 - 1)^2} \end{aligned}$$

$$\frac{x^5(x^4 - 4x + 3)}{(x^2 - 1)^2}$$